2 3 5 6 7 8 9 10 SUPERIOR COURT FOR THE STATE OF CALIFORNIA 11 **COUNTY OF LOS ANGELES** Coordination Proceeding Special Title (Rule 1550(b)) 12 **Judicial Council Coordination** Proceeding No. 4408 13 ANTELOPE VALLEY GROUNDWATER Lead Case No. BC 325201 CASES 14 RICHARD A. WOOD, an individual, on 15 Case No.: BC 391869 behalf of himself and all others similarly 16 situated, [proposed] ORDER GRANTING RICHARD WOOD'S EX PARTE 17 APPLICATION FOR APPROVAL Plaintiff, OF COURT-APPOINTED EXPERT 18 BILLS v. 19 LOS ANGELES COUNTY 20 WATERWORKS DISTRICT NO. 40; et al. 21 Defendants. 22 23 24 25 26 27

28

ı	
2	On January 22, 2015, in Department 12 of the Santa Clara Superior Court,
3	the Court heard Richard Wood's <i>Ex Parte</i> Application For Approval of Court-
4	appointed Expert Bills. This Application was unopposed.
5	The Court hereby GRANTS the Application and approves the two invoices
6	attached thereto.
7	IT IS SO ORDERED.
8	
9	
10	
11	Dated: Judge of the Superior Court
12	Judge of the Superior Court
13	
14	
15	
16	
17	
18	
19	
20	
21	
22	
23	
24	
25	
26	
27	
28	2



55 SW Yamhill Street, Suite 300 Portland, OR 97204 P: 503.239.8799 F: 503.239.8940 Info@gslws.com www.gslws.com

Mike McLachlan

December 03, 2014

Superior Court of California, County of Los Angeles

Invoice No:

0568.001 - 1

c/o Law Offices of Michael D. McLachlan

44 Hermosa Avenue

Hermosa Beach, CA 90254

Project	0568.001	Antelope Valley Groundwater Adjudication
		00444 31 1 00 0044

Professional Services from November 01, 2014 to November 30, 2014 Task .001 Review Responses / Project Management Labor Amount Hours Rate Administrative Assistant .50 85.00 42.50 Mackey, Emily Totals .50 42.50 **Total Labor** 42.50 **Total this Task** \$42.50 Task .002 Follow up Communications Labor Hours Rate Amount Senior Hydrogeologist 756.25 Thompson, Timothy 2.75 275.00 756.25 Totals 2.75 756.25 **Total Labor** \$756.25 **Total this Task** Task .004 Compile Data / Water Use Calculations / Prep Exhibits Labor Amount Hours Rate Senior Hydrogeologist 4,881.25 Thompson, Timothy 17.75 275.00 4,881.25 Totals 17.75 **Total Labor** 4,881.25 Total this Task \$4,881.25 Total this Invoice \$5,680.00

Billings to Date

	Current	Prior	Total
Labor	5,680.00	0.00	5,680.00
Totals	5,680.00	0.00	5,680.00



55 SW Yamhill Street, Suite 300 Portland, OR 97204 P: 503.239.8799 F: 503.239.8940 info@gsiws.com www.gsiws.com

Mike McLachlan

January 12, 2015

Superior Court of California, County of Los Angeles

Invoice No: 0568.001 - 2

c/o Law Offices of Michael D. McLachlan

44 Hermosa Avenue

Hermosa Beach, CA 90254

Project

0568.001

Antelope Valley Groundwater Adjudication

Professional Services from December 01, 2014 to December 31, 2014

Task

.002

Follow up Communications

Labor

	Hours	Rate	Amount
Senior Hydrogeologist			
Thompson, Timothy	11.50	275.00	3,162.50
Totals	11.50		3,162.50
Total Labor			

3,162.50

Total this Task

Total this Invoice

\$3,162.50

\$21,051.25

Гask	.004	Compile Data / Water Use Calculation	is / Prep Exhibi	ts	
_abor					
		Hours	Rate	Amount	
Principal H	ydrogeologist				
Barry,	Jeffrey	4.50	225.00	1,012.50	
Senior Hyd	rogeologist				
Struck,	Rodney	.75	180.00	135.00	
Thomp	son, Timothy	37.25	275.00	10,243.75	
Staff Hydro	geologist				
Gamad	che, Garrett	55.50	100.00	5,550.00	
Staff Enviro	onmental Engineer				
Gorski	, Jacob	4.25	100.00	425.00	
GIS Specia	alist				
Manley	, Jesse	4.00	120.00	480.00	
Administrat	tive Assistant				
Macke	y, Emily	.50	85.00	42.50	
	Totals	106.75		17,888.75	
	Total Labor	r"			17,888.75
			Total this Task		\$17,888.75

Outstanding Invoices

Number	Date	Balance
1	12/3/2014	5,680.00
Total		5,680.00

Project	0568.001	McLachlan Law: Antelope Valley GW Adjudi			Invoice	2	
Billings to	Date	<u> </u>					
		Current	Prior	Totai			
Labor		21,051,25	5,680.00	26,731.25			
Totals	;	21,051,25	5,680.00	26,731.25			